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FEBRUARY 2010 (SAUDI CHAPTER)

SCIENCE

Max. Marks- 80

General Instructions

Attempt all questions. Symbols have their usual meaning.

Time — 3 touss

1.Question 1 to 5 are one mark questions. They are to be answered in one word or one sentence.

2.Question 6 to 14 are two marks questions. They are to be answered in about 30 words.
3.Question 15 to 23 are three marks questions. They are to be answered in about 50 words.

4.Question 24 to 26 are five marks question. They are to be answered in about 70 words.

5. Question 27 to 41 are multiple choice questions based on practical skills. Each question is of one
mark. You are to choose one most appropriate response out of the four a,b,c and d provided to you.

1. Name one indigenous and one exotic breed of poultry.
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2. An element has 3 valence shell electrons in the third shell . Name the element and give its

atomic number.
3. Calculate the molar mass of ammonium phosphate
( given af. masses ; N=14,H=1,P=31, O=16)
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4. Sound travels with a speed of 340 m/s .What is the wavelength of the sound wave whose

frequency is 510 kHz.

5. Mention any two practical applications of reflection of sound?

6. What are weeds. How do they affect the growth of crops.?

7. Which organelle is known as the power house of the cell. Why ?
8. Give one point of difference between each of the following.

a. Tendon and ligament

b. Areolar tissue and adipose tissue
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9. In the following table are given the mass numbers and atomic numbers of certain elements

[~ Element A B c D F G [H
Mass No. 2 3 3 6 1 19 |23
Atomic No. 1 1 2 3 5 9 11

]
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ii) Which atoms are isotopes of the same element?
iii) Which is the atom of an inert gas?

iv) Which will form singly negatively charged ion?

10. Calculate the amount of glucose required to prepare 250 gm of 5% solution of

glucose by mass. )

11. Test tube A contains a mixture of iron and sulphur and Test tube B contains a compound of
iron and sulphur What do you observe when 2 ml of dil. Sulphuric acid is added to A and B

separately? )
12. Why do we prefer a sharp knife for cutting then blunt one? )
13. Distinguish any two major difference between mass and weight. (2)

14, State energy conservation principle. Give the energy transformation taking place in solar
cell. (1+1)

15, Which tissue makes up the husk of coconut. Mention the nature of cell wall and draw a
neat labeled diagram. (3)
16. The body of a patient has lost its power to fight against infection. Which disease may
the patient be suffering from. Name the pathogen and write any two mode of its
transmission from one patient to other persons. )

17. Write any three differences between prokaryotic cell and eukaryotic cell. (3)

18. a) With the help of a flow diagram explain how you can obtain different gasses from air?

b) How are emulsions different from gel? Give one example of each. (2+1)

19. a) Calculate the number of water molecules present in a drop of water weighing 0.036 g?
b) What is the difference between molar mass and molecular mass? (2+1)
20. a) When 3 g of carbon is burnt in 8 g of oxygen , 11 g of carbon dioxide is produced
What mass of carbondioxide will be formed when 3 g of carbon is burnt in 50g of oxygen?
Which law of chemical combination will govern your answer?

b) If 1 mole of helium atoms weighs 4 g, What is the mass (in grams) of 1 atom of helium.
(3)
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doubled, find the change in separation required to maintain same force. 3)

22. An object of mass 50 Kg is raised to a height 10 m above the ground. ( take g = 10m/s?.)
a) What is its potential energy? 1%
b) If it is allowed to fall what is its kinetic energy when it is halfway down. 1%

23. A stone is thrown vertically upwards with a velocity 5 m/s. Calculate

a) The maximum height attained 1%
b) Time taken to reach the maximum height( take g = 10m/s*.) 1%
24. (a) Name any four micronutrients required for growth of the plant. (1+2+2)

(b) Write two advantages of the use of manures over fertilizers
. (c) Mention various preventive and control measures for the storage of food grains.
25. a) Describe Rutherford’s alpha ray scattering experiment with the help of a
diagram and describe the observations and conclusions drawn from them.
b) Write the electronic configuration of a pair of isobars. (5)
26. a) What is reverberation? How it can be reduced? (2+2+1)
b) Define longitudinal and transversal waves. Give one example of each.
c) Why are the ceilings of concert halls are curved?

27. A teacher gave an impure sample of alum containing fine sand as impurity to a student .He
asked him to recover pure alum from the sample. The correct procedure is

. a. Dissolve the impure sample of alum in water , filter and evaporate the filtrate.
b. Dissolve the impure sample of alum in alcohol and filter
c. Move a magnet over the impure sample of alum

d. Dissolve the impure sample of alum in carbondisulphide, filter and evaporate the
filtrate

28. A small amount of a mixture of iron and sulphur is taken in a test tube and Scc
carbondisulphide is added to it. The test tube is shaken well. It is seen

a. Yellow coloured sulphur particles dissolved, but not the iron
3
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¢. Both iron and sulphur dissolved to form a solution
d. None of the particles dissolved

29. 3g of dry lead nitrate is placed in a dry test tube . The testtube is held ina  test tube
stand and heated from below by a Bunsen burner. The colour of

residue on strong heating is
a) Yellow  b) reddish brown c) Black d) grey

30. A student heated a mixture of sand and two chemical substances which do not react
chemically. In a few minutes the mixture started giving dense white fumes which condensed
to form a white powdery mass. The phenomenon is due to

a) decantation b) evaporation c) sublimation  d) distillation
31. A student setup the apparatus for finding the melting point of ice . When half the ice is
melted the temperature shown by the thermometer is

a)More than0°C  b) Less than0°C c)0°C d) none of the above.

32. A given solid is weighed in air using a spring balance. It is then weighed by immersing it fully

in an overflow can using tap water. A student collects the overflow water by repeating the
experiment in three different vessels, as shown in figure, and measures the volume of
displaced water separately. The data obtained in the experiment shows that volume of water

displaced ,will be

(a) More in vessel A (b) More in vessel B

(c) More in vessel C (d) Equal in all three vessels
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(a) loses his mass due to common salt in sea water
(b) experiences less buoyant force than fresh water
(c) experiences more buoyant force than fresh water
(d) the sea water does not flow like fresh water
34. In the experiment on studying the laws of reflection of sound , the tube facing the clock is placed

as shown. The position of the sound tube ,at which the ear will get the best reflected sound ,is

obtained when e° equals

CID“I;

(a) 20° (b) 30° (c) 40° (d) 50°
35. When a pulse is formed on a slinky
(a) medium oscillates for a long time (b) medium remains undisturbed
(c) medium oscillates for a short while and then return to its original undisturbed
position (d) both (a) and (b)

. 36. When a hot body A and a cold body B are mixed ,then

(a) A loses,B gains energy (b) B loses, A gains energy

(c) both A and B gains energy (d) both A and B loses energy
37. To observe cells in an onion peel, we must prepare the slide by mounting on it

a. Crushed pulp of onion b. dry scale leaf

c. Thin layer of fleshy leaf of onion. d. all of the above.

38. The given slide contains cylindrical muscle fibres which are striated. The slide is of
a. Voluntary muscles b. involuntary muscles

c. Cardiac muscles d. Visceral muscles
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[image: image6.jpg]39. Amphibians of the plant kingdom are
a. Bryophyta b. pteridophyta
c. Thallophyta d. Gymnosperms

40. Glycerine is used to prepare a temporary mount of a tissue due to the following reasons.
a. To colour the specimen b. To avoid drying up of the specimen
quickly
c. To avoid entry of air bubbles d. None of the above

41. Which of the following is not an aquatic adaptation
a. Stream lined body b. Hollow bones
c. Presence of gills d. Presence of fins





